2
3237 = 0x 39 x 37 ol [ Jotofl ke -8 Totofet
=

>
l> b= S

oHd =

B

32x3°0 =9x3°x33
=32x3°x%x33
=32x38

~[]=s




@ % (b2)3 — b2><3 — b6

@ O (22)3 — 22><3 — 26

© x (*)* xy* =y xy? =y0*3 =»°

® O (#)?x (y*) = 22 xy? = xy?

@ x (a4)? x (a®)* = a® x a® = aB+8 = a6
ge 7

A2 O, @ °ltt.




3. o= 27 S AR 2 v x| 2] ¢ AS =L

1o

H7]
@ a12_(a3_a2) @ (a4)3+a2—a3
al?
© ?—a?’ ©® a2+ (d" +a?)
@ (a®)P+a*xa
> =
D>EE! 9
@a?+(a®+a®)=a?+a=a"t
© (a)? +a?+a® =a?23 =47
12
4 LB 1228 T
2
©@a2+ (@ +a®) =a?2+d™2=a?5 =47
@ (03)3 ~ad3xa=a"3"t =47
.







i)
oo
=
=2
117
=}
rlo
>
o
x
i
2
I

\VARR 4
0%
il
SRS

B

ab* +[ I = @b &[]0 chste] et [ = abx 5 +ab

ojtt, ;
D — ab3 x 5 = a%b

1
— glt1p3-1 —-
a3b
272
=a‘b* X —
ash
>t b
T @32 g




